Short Division Without Remainders

Complete the calculations below.

1. 7|7 7 2. 7|9 8 3. 4|6 4

4, 7|91 5. 711 5 4 6. 3|204

7.138 + 6 = 8.217+7 =

9. Connor had 91 marbles. He shared them out equally between 7 bags. How many marbles

<L

were in each bag?
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Short Division Without Remainders

10. A baker bakes 132 cupcakes. She sends them to 6 different supermarkets. How many
cupcakes does each supermarket receive?

W * visit twinkl.com >
Quality Standard




Short Division Without Remainders - Answers

1. 1

N

14
16
13

22
68
23
31

© ® N & v & W

13
10. 22
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